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BRI RERNEEREAHEEHERE
1 BERRR

®=1 EKER

N ELX S H 3l A X I 5 MTCL-ZDC-20220727-001/001
RHEAK A JIEXXXX-20XX | Rk H 2022.07. 27
R 22.5 C B 62. 8 %RH
T2 /A 3350 W& sZilkE: 4504783044010
R KFEE 600 g /N 2 g
SEFRor A (d) 0.1¢g 5753 FEAE (dr ) 0.01 g
BT R 1.015 Fe Al /
{RERf PS5 ) XIII(1) R HA R (om) 70X120X24
BATH W E 60m/min SEMIEAT I 59.9 m/min
5 il T R TR0 AT W B i AB W& 51k
SrdE v / /
EA s HE 5 /A RO BTG R/ R 2
e fERD | 2021D11-10-3464498006/2022. 08. 24 1mg~500mg/E»
3;;;5 LRG| 2021D11-10-3464498004/2022. 08. 24 1g~500g/E:
B | 121023020/2022. 09. 08 0.5 %
/ / /
G ] MEREEN-FCF 2 CEMD MR ARG RAF
AR LA AL R MR -FCR 2 CEMD MR ARG RAF
AR A H bk TLIE WM TH ORI % 111 5
T2 VHE s 55 VLI585 M T ORWIPEER 111 5 1 54K 1 B PT sei s
2 FERAITHIERMNELER
2.1 ~ENE
=2 ~ENEE
ME = () TET(2) ~ME(2) REIRZE(9)
0 0 0.00 0.00
2 2.000012 2.02 0.02
20 20.000009 20.03 0.03
200 200.00004 200.03 0.03
500 500.00014 500.03 0.03
600 600.00014 600.04 0.04
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2.2 HEMNE
*3 EEMNEE

W& 1 2 3 4 5
WEE (g 500. 01 500. 02 500. 03 500. 01 500. 02
W& 6 7 8 9 10
MEE (g 500. 03 500. 02 500. 02 500. 03 500. 04

FHIME (2 500.02 FRAERZE(S) 0.0095

2.3 N EAE
x4 RENEE

HENMNE MEE) (g)
FRERRRD 200
i ji] 200.03
ETT 200.03
EE7 200.04
At 200.02
a7 200.02
|Alcrece] 0.01

3 MBEHESZEINE
W T A U T 28 Q2R e, RIS, IR AB I & 7 VA IR A3 195 28y
2% 1H.
#=5 REHESEENEE

A MR ()

PRI LR ERE R (S o I
R BRI R R (D Toey 0.01
FSHICES LRI T (S Rygy 52. 52
e, 0. 01
. 50

RIS E T EM o 52.51

Mref = (Rerw — Rero) — (e — Ieo) + my
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R — FRIERERD % i)

FEERIHERLVEES B1. 3 AYZER

RIS 2 E

4 BENTIRESRINE

4.1 7nfE K BB PRI

X 100% =

152.51 — 50.00004|

50.00004

*o6 NMERESMHNEE ()

X 100% = 5% <<15%

VE L] IR ;
M EAH 52. 47 52. 48 52. 46 52. 48 52. 46
REL 6 8 9 10
M EAH 52. 47 52. 46 52. 46 52. 46 52. 47
RE 11 13 14 15
W EAE 52. 48 52. 46 52. 45 52. 46 52. 48
RE 16 18 19 20
W EAE 52. 46 52. 47 52. 46 52. 48 52. 46
R 21 23 24 25
M EAH 52. 45 52. 46 52. 46 52. 45 52. 46
R 26 28 29 30
W EAE 52. 46 52. 48 52. 47 52. 46 52. 48
I 52. 47 FRUfERZE () 0. 0097
IS BT PR E R 2 -0. 04
4. 2 A2
=7 RENEHE ()

] 1 2 3 4 5 6 TIE
M EAE 52.47 | 52.48 | 52.46 52. 48 52. 46 52. 47 52. 47
W1 1 2 3 4 5 6 e
M EAE 52.47 | 52.45 | 52.46 52. 49 52. 48 52. 46 52. 47
W 2 1 2 3 4 5 6 e
M EAE 52.48 | 52.46 | 52.43 52. 44 52. 46 52. 47 52. 46
AIecc,bmax -0.01
Hr FEMEERAXRCEZMMEMEMW A 6 NI EME

5 R ERERERENTREREITE

BAENEARARLA
E=1-m_
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u?(E) = u?(D) +u*(m )
1 BERHE BT RS N A AR EANT 2 FE w(SD)
L1 FHORMEAEE R ZE SRR EATE . u(Slcan)

u(Slcao) = do/2V3 = 0.01g/(2V3) = 0.0029 g
L2 InBURE IR Z 5 R PR AEAN A E FE u (ST

ca1r)
u(8I_ ) =d/(2V3) =0.01g/(2V3) = 0.0029 g
C13 EEMELRMRHEATHE E u(Slcarep)
KA 6 MR
u(8lcarrep) = s(I;) = 0.0097 g
L4 REEEFREATEE u(Slcalece)
KA T B EAE
u(8lcatece) = |[Mecep| . /2V3 = 0.01g/2v/3 =0.0029 g
1.5 BRI 2R A8 51 A AR HEAN I € FE ulcar)
w?(I) = u?(Slcar) + U2( 8lca1) +u? (Slcarrep) + U2 (Slcatece)
u(l) = 0.0108 g
2 IR EAT 27 R A 5 R AR HEA E FEu(m, o)
C2. 1 P RN E S R R A E Fu ()
2. L1 EURE N EAR 2 5 R AR HEAE Eu (Sl )

CIO

u(8l,) = do/(2v/3)=0.01g/(2v/3) = 0.0029 ¢

2. 1.2 INBoRE R 22 5 R AR HEANIH E L u (ST, )

CIL

u(8l,,) = dy/(2V3)=0.01g/(2v3) = 0.0029 g
)

L2.1.3 EEMSIEAPHEATEE w(ol,
K 3 EAMENEE

u(81.. )=s)=0.0095g

Clrep
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L2014 SRR PR HEAIE Z w(sl )
KR 4 Bl A
w(8lcrece) = |Bleeces|, . ./2V3 = 0.01g/((2 xV3) =0.0029g
. 2. 1.5 4 SRR R E R AR HEA T € B u(le)
w?(Iey) = u(Slgio) + u?( 8ler) +u?(Slerrep) + U2 (Slcrece)
u(le) = 0.0109 g
-3 BRAERERD 51 HIARME AT E FEu(Sm, )
- 3.1 FRUERERD bR HEA ] 2 B u(6m,)
u(ém,) = |MPE|/v3 = 0.0001 g/+/3 = 0.00006 g
. 3.2 FERSANTRE P 5 AR AEA T 52 FEu(Smp)
u(émp) = |MPE|/(3V3) = 0.0001 g/3V3 = 0.00002 g
- 3.3 IR E AT S T R 5 R AR HEA I € FEu(m, )
u? (M) = u?(dme) + u?(6mp)
u(m..) = 0.0001g
4 FREANE FE
uz(E) = v +u?(m )

= u?(8lcro) + u?( 81, )+u? (‘Slcnep) + u?(8lcrece) + u?(Slcqro) +
u?( 5ICa1L)+“2(5ICa1rep) + u?(8lcatece) + u2(dmg) + u?(dmp)
u (E)=0.0153 ¢
T RAHEE
Up(E) = kpu (E) =2 x0.0153g=0.03g
BT =2 B, NARIES A E ) BE MR 20 95.45%
i
ZH R R R R AR AT N 52. 51 gt B K RRVFRZEN 0.1 g,
U/MPEV =0.03 g/0.1 g=03<1/3,
T 2 B A AR R E IR Z T B I VP58 IR AR
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